C:h Addition (Horizontal)

Name:

Solve each problem.

1) 223+12=

2) 6,937 +54=

3) 673+535=

4) 1,241 +998 =

5 478+70=

6) 4236+ 60=

) 72+65=

8) 4,400+ 1,787 =

9 916+ 653 =

10) 0+ 8=

11) 362+ 12 =

12) 7,111+2,293=

13) 6,465 + 63 =

14) 6,000 + 3,877 =

15 91+1=

10.

11.

12.

13.

14.

15.

Answers

[ M ath ] www.CommonCoreSheets.com

1-10
11-15

93

87

80

60]53[47]40]33]

27

20

13




=

Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

223+ 12= 235

6,937 +54= 6,991

673+535= 1,208

1,241 +998= 2,239

478+ 70 = 548

4,236 +60= 4,296

72+65= 137

4,400+ 1,787 = 6,187

916 + 653 = 1,569

60+ 8= 68

362+ 12 = 374

7,111+ 2,293 = 9,404

6,465+ 63= 6,528

6,000 + 3,877= 9,877

91+1= 92

10.

11.

12.

13.

14.

15.

Answers

235

6,991

1,208

2,239

5438

4,296

137

6,187

1,569

68

374

9,404

6,528

9,877

92
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JL_

Addition (Horizontal)

Name:

Solve each problem.

Answers

{

6,991 4,296 2,239
6,187 137 68

235
1,569

548
1,208 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

223+ 12 =

6,937 + 54 =

673 +535=

1,241 + 998 =

478 + 70 =

4,236 + 60 =

72+ 65=

4,400 + 1,787 =

916 + 653 =

60+ 8=

10.

C
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C:h Addition (Horizontal)

Name:

Solve each problem.

1) 99+81=

2) 5288+ 1,141 =

3) 976+ 88 =

4) 958 + 668 =

5 69+1=

6) 7031+77=

7) 696 + 588 =

8) 83+22=

9 9,425+ 358 =

10) 76+ 7 =

11) 89+ 24 =

12) 670+ 576 =

13) 9,826 + 83 =

14) 8,418 + 961 =

15) 2,256+ 1,910 =

10.

11.

12.

13.

14.

15.

Answers
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ﬂh Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1) 99+81= 180

2) 5288+ 1,141= 6,429

3 976+88= 1,064

4) o58+668= 1,626

5 69+1= 70

6) 7,031+77= 7,108

7) 696+588= 1,284

8 83+22= 105

9 9425+358= 9,783

10) 76+ 7= 83

11) 89+ 24 = 113

12) 670+576= 1,246

13) 9,826+83= 9,909

14) 8,418+961= 9,379

15) 2,256+1,910= 4,166

10.

11.

12.

13.

14.

15.

Answers

180

6,429

1,064

1,626

/0

7,108

1,284

105

9,783

83

113

1,246

9,909

9,379

4,166
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JL_

Addition (Horizontal)

Name:

Solve each problem.

Answers

{

83 1,064 7,108
9,783 6,429 1,626

70
180

1,284
105 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

99 +81=

5288 +1,141 =

976 + 88 =

958 + 668 =

69+1=

7,031+ 77 =

696 + 588 =

83+22=

9,425 + 358 =

6+ 7=

10.

C
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C:h Addition (Horizontal)

Name:

Solve each problem.

1) 37+15=

2 79+6=

3) 3476+ 24=

4) 7,007 + 3,124 =

5 890+ 49 =

6) 9,600+ 302 =

7) 91+4=

8) 569+ 22 =

9 332+226=

10) 920 + 457 =

11) 9,373 + 166 =

12) 4,319+ 39 =

13) 908 + 466 =

14) 77+28=

15 9,195+ 7,138 =

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

37+15= 52

719+6= 85

3476+24= 3,500

7,007 + 3,124= 10,131

890 +49= 939

9,600 +302= 9,902

91+4= 95

569 + 22 = 9591

332+ 226 = 558

920+457= 1,377

9,373+166= 9,539

4319+39= 4,358

908 +466= 1,374

77+28= 105

9,195+ 7,138= 16,333

10.

11.

12.

13.

14.

15.

Answers

92

85

3,500

10,131

939

9,902

95

591

558

1,377

9,539

4,358

1,374

105

16,333
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JL_

Addition (Horizontal)

Name:

Solve each problem.

Answers

{

5901 9,902 52
1,377 3,500 558

10,131
95

939
85 1.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

37+15=

719+6=

3476+ 24 =

7,007 + 3,124 =

890 + 49 =

9,600 + 302 =

9l+4=

569 + 22 =

332 + 226 =

920 + 457 =

10.

C

M odified
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JL_

Addition (Horizontal)

Name:

Solve each problem.

1) 729+ 75=

2) 5519+ 363 =

3) 6,453+ 43 =

4) 9,693+ 4,773 =

5 906+ 172 =

6) 9,924 + 905 =

7) 58+5=

8) 40+29=

9 7813+ 76=

10) 45+43=

11) 94+ 84 =

12) 341 +50=

13) 97+4=

14) 880+ 783 =

15 19+1=

10.

11.

12.

13.

14.

15.

Answers
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ﬂh Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1) 729+ 75= 804

2) 5519+363= 5,882

3 6,453+43= 6,496

4) 9,693 +4,773= 14,466

5 906+ 172= 1,078

6) 9924 +905= 10,829

7) 58 +5= 63

8) 40+29= 69

9 7813+76= 7,889

10) 45+ 43= 88

11) 94+ 84 = 178

12) 341+50= 391

13) g7+4= 101

14) 880+783= 1,663

15 19+1= 20

10.

11.

12.

13.

14.

15.

Answers

804

5,882

6,496

14,466

1,078

10,829

63

69

7,889

88

178

391

101

1,663

20
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C:h Addition (Horizontal) Name:

Solve each problem. Answers
7,889 88 5,882 14,466 10,829
6,496 804 69 63 1,078 1.
1) 729+ 75= 2

2) 5519+ 363=

3 6,453 +43=

4) 9,693+ 4,773 =

) 906+ 172 =

10.

6) 9,924 + 905 =

7) 58+5=

8) 40+29=

9 7,813+76=

10) 45+ 43=

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
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C:h Addition (Horizontal)

Name:

Solve each problem.

1) 5261+ 442=

2) 39+1=

3) 569+ 195 =

4) 123+ 13=

5 1,926+ 1,869 =

6) 1,992 +49=

7) 3436+52=

8) 037+ 791 =

9 3,821+978=

10) 76+ 32=

11) 575+ 53 =

12) 7,916 + 3,689 =

13) 36+9=

14) 63+4=

15) 862 +21 =

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

5261 +442= 5,703

9+1= 40

969 + 195 = 764

123+ 13 = 136

1926 +1,869= 3,795

1992+49= 2,041

3436+52= 3,488

937+791= 1,728

3821+978= 4,799

76+32= 108

575+53= 628

7,916 + 3,689 = 11,605

36+9= 45
63+4= 67
862 + 21 = 883

10.

11.

12.

13.

14.

15.

Answers

5,703

40

764

136

3,795

2,041

3,488

1,728

4,799

108

628

11,605

45

6/

883
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C:h Addition (Horizontal)

Name:

Solve each problem.

Answers

{

1,728 108 2,041
764 40 4,799

5,703
3,795

3,488
136 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

5,261 + 442 =

39+1=

569 + 195 =

123+ 13=

1,926 + 1,869 =

1,992 + 49 =

3,436 + 52 =

937+ 791 =

3,821+ 978 =

76+ 32=

10.

C
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C:h Addition (Horizontal)

Name:

Solve each problem.

1) 626+ 615=

2) 94+61=

3) 94+13=

4 73+ 1=

5 9490+ 94 =

6) 4,968+ 1,087 =

7) 990 + 45 =

8) 7,900+ 34=

9 5619+ 714 =

10) 89 +53=

11) 7,597 + 4,924 =

12) 44+5=

13) 5,966 + 171 =

14) 813 +68 =

15) 5688 + 651 =

10.

11.

12.

13.

14.

15.

Answers
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ﬂh Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1) 626+615= 1,241

2) 94+61= 155

3 94+13= 107

4) 73+ 1= 74

5 9490+94= 9,584

6) 4968+ 1,087= 6,055

7) 990+45= 1,035

8 7900+34= 7,934

9 5619+ 714= 6,333

10) 89+53= 142

11) 7597 +4,924= 12,521

12) 44+5= 49

13) 5966+ 171= 6,137

14) 813+68= 881

15) 5688+ 651= 6,339

10.

11.

12.

13.

14.

15.

Answers

1,241

155

107

74

9,584

6,055

1,035

7,934

6,333

142

12,521

49

6,137

881

6,339
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C:h Addition (Horizontal)

Name:

Solve each problem.

Answers

{

6,055 6,333 155
7,934 1,035 142

1,241
74

9,584
107 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

626 + 615 =

94 +61=

94+ 13=

73+1=

9,490 + 94 =

4,968 + 1,087 =

990 + 45 =

7,900 + 34 =

5,619 + 714 =

89+ 53 =

10.

C
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JL_

Addition (Horizontal)

Name:

Solve each problem.

1) 5,082+ 1,457 =

2) 7505+ 4,539 =

3) 6,150 + 858 =

4 18+ 4=

5 98+55=

6) 795+ 411 =

7) 99+83=

8) 415+ 23 =

9 51+6=

10) 813+ 589 =

11) 63+7=

12) 716+ 92 =

13) 9,123 + 597 =

14) 8,660 + 79 =

15) 31+13=

10.

11.

12.

13.

14.

15.

Answers
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ﬂh Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1) 5082+1,457= 6,539

2) 7505+4,539= 12,044

3 6,150+ 858= 7,008

4) 18+ 4= 22

5 98+55= 153

6) 795+411= 1,206

7) 99+ 83= 182

8) 415+ 23= 438

9 51+6= 57

10) 813+589= 1,402

11) 63+7= 70

12) 716 +92= 808

13) 9,123+597= 9,720

14) 8660+ 79= 8,739

15) 31+13= 44

10.

11.

12.

13.

14.

15.

Answers

6,539

12,044

7,008

22

153

1,206

182

438

S/

1,402

/0

808

9,720

8,739
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C:h Addition (Horizontal) Name:

Solve each problem. Answers
22 57 1,206 6,539 12,044
1,402 438 182 153 7,008 1.
1) 5,082+ 1,457 = 2,

2) 7,505+ 4,539 =

3) 6,150 + 858 =

4) 18+4=

5 98+55=

10.

6) 795+ 411 =

7) 99+83=

8) 415+23=

9 51+6=

10) 813+ 589 =

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
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JL_

Addition (Horizontal)

Name:

Solve each problem.

1) 426+ 346 =

2) 2429+ 408 =

3) 6,626+ 38=

4 99+ 7=

5 300+43=

6) 841 + 708 =

7) 423+ 37=

8 332+6=

9) 57+55=

10) 59 + 46 =

11) 3,759 + 57 =

12) 2,006 + 654 =

13) 948 + 395 =

14) 8,157 + 3,420 =

15) 2,345+ 61 =

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

426 + 346 = 772

2,429 +408= 2,837

6,626 + 38= 6,664

PO+7= 106

300 +43= 343

841+ 708= 1,549

423+ 37 = 460

32+6= 38

5/ +55= 112

99 + 46 = 105

3,799+57= 3,816

2,006 +654= 2,660

948 +395= 1,343

8,157 +3,420= 11,577

2,345+61= 2,406

10.

11.

12.

13.

14.

15.

Answers

772

2,837

6,664

106

343

1,549

460

38

112

105

3,816

2,660

1,343

11,577

2,406
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C:h Addition (Horizontal)

Name:

Solve each problem.

Answers

{

38 6,664 106
112 1,549 343

460
105

772
2,837 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

426 + 346 =

2,429 + 408 =

6,626 + 38 =

+7=

300 +43=

841 + 708 =

423 + 37 =

32+6=

57 +55=

59 +46 =

10.

C

M odified
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JL_

Addition (Horizontal)

Name:

Solve each problem.

1) 7,798 + 745 =

2) 3347+ 19=

3) 751 +601=

4) 7816+ 2,926 =

5 461+ 78=

6) 51+33=

) 71+70=

8) 4,540+ 643 =

9 914+ 84=

10) 576+ 140 =

1) 72+7=

12) 3,807 + 94 =

13) 3913+ 52=

14) 26+ 6=

15) 415+ 169 =

10.

11.

12.

13.

14.

15.

Answers

[ M ath ] www.CommonCoreSheets.com
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Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

7,798 + 745= 8,543

3347+19= 3,366

751+601= 1,352

7,816 + 2,926 = 10,742

461 + 78 = 539

51+33= 84

71+70= 141

4540+643= 5,183

914 + 84 = 998

5/6+ 140 = 716

2+7= 79

3,807+94= 3901

3913+52= 3965

26+6= 32

415 + 169 = 584

10.

11.

12.

13.

14.

15.

Answers

8,543

3,366

1,352

10,742

539

84

141

5,183

998

716

79

3,901

3,965

32

584

C

Math ] www.CommonCoreSheets.com

1-10
11-15

93

87

80

60 | 53|47 |40]33]

27

20

13




JL_

Addition (Horizontal)

Name:

Solve each problem.

Answers

{

3,366 141 998
539 84 10,742

5,183
1,352

716
8,543 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

7,798 + 745 =

3,347 +19=

751 +601=

7,816 + 2,926 =

461 + 78 =

51+33=

71+ 70=

4,540 + 643 =

914 + 84 =

576 +140 =

10.

C
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JL_

Addition (Horizontal)

Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

2,288 + 20 =

4,028 + 288 =

9,606 + 5,735 =

B+2=

927 + 408 =

93+32=

2+1=

4,117 + 2,596 =

61+ 29 =

462 + 69 =

992 + 357 =

735+ 192 =

6,150 + 24 =

7,213+ 1,482 =

95+ 60 =

10.

11.

12.

13.

14.

15.

Answers

C
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Addition (Horizontal) Name:. Answer Key
Solve each problem. Answers
1) -
2288+ 20 2,308 ) 2308
2) 4028+288= 4,316 2. 4,316
3. 15,341
3) 9606+5735= 15341
4 97
4 -
) 95+ 2 97 . 1335
5 927+408= 1,335 6. 125
. 23
6) 93+32= 125
8. 6,713
7 —_
) 22+1= 23 . 90
8) 4117+2596= 6713 10 231
1 1,349
9 61+29= 90
12 927
10) 462 + 69 = 531 13, 6,174
11) 992+357= 1,349 . 8,695
15, 155
12) 735+192= 927
13) 6,150+24= 6,174
14) 7213+1,482= 8695
15 95+60= 155

[ M ath ] www.CommonCoreSheets.com
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JL_

Addition (Horizontal)

Name:

Solve each problem.

Answers

{

97 6,713 15,341
23 125 90

531
4,316

2,308
1,335 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

2,288+ 20 =

4,028 + 288 =

9,606 + 5,735 =

O5+2=

927 + 408 =

93+32=

2+1=

4,117 + 2,596 =

61+ 29 =

462 + 69 =

10.

C
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